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Apple pie weights: Group A    4kg, 4.2kg, 5kg, 5kg, 5.8kg 6kg 




     Group B    1kg, 1.1kg, 5kg, 5kg, 8.9kg 9kg
Groups A & B have the same mean, median and mode,
 but they are different.
Measures of spread are the:

Range:

Interquartile range:


Standard deviation:

Quartiles:
Times to eat a pie (seconds)          12,  14,  9,  38,  26,  54,  33,  22,  17,  47, 12
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Range = 

Upper Q = 

Lower Q = 

Inter Q = 
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Tree height (cm)




Clearly shows max & min. 
Shows if data is clumped or spread.

Shows outliers.
Can find median & quartiles. 















































































































































































Text Practice: 


Beta pg. 416   Ex 29.4
































Measures of spread




































































Text Practice: 


Alpha pg.408   Ex 28.7





Text Practice: 


Beta pg. 419   Ex 29.6





Back to back stem & leaf

















Stem & leaf plots

















